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éi%mﬁéj?ﬁ%a% ) R 40 4.6 m
é%%ﬁ{%%ﬁ% (1) BEN— 50 28.8 m
O B (1) ER—# 100 6.1 m
et (1) MR - T 50 0.9 .
éﬁgﬁ{ét%w% (VP) EBA—f 50 14. 8 m
é?%&bw% WP) Has - A7 50 2. 9 .
%ﬁﬁét Witk B (VP) B 50 2.8 m
g%é&l;t“:wﬁk:)%%(vp) W - HET 50 14.0 m
%%%ﬁ;%l):t“:/l/% (VP) B 50 37.9 m
éé%ﬁég: L (VP) BEMRE - T 50 12.6 m
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(Eﬂﬁ’?;’;‘;l)gtﬁ/l/r’: (VP) BN 75 62.3 m
ggigét“:w% (VP) Bk 100 49.3 m
(ﬁﬂ?%zjifﬁét“:/b% (VP) BHN—fix 150 64.8 m
@fﬁﬁée:w% (VP) BN 200 22. 4 m
R RIERS () B 10 2o | m
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PEsby 7 120 ¢ BEE400mmfL 1 1
FadE by 7 100 ¢ BEJEA00mmFLE 2 1
AR 120  600mm 3 ZN
IERE 120 ¢ 300mm 1 N
IERE 100  600mm 3 N
AR 100 ¢  300mm 5 ZN
LR 1206 90° 1 18]
T RE 120  45° 1 1]
T LR 100 90° 4 18
T VR 100 45° 1 1]
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A A B R SRS (F1) BA—# 40 15.2 m
B PR R SRER S (F) M= 20 2.0 m
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P b S R A (1) FEANRZE 20 2.2 m
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RS AR % ke T 20 2.0 m
ESARZ T ¥ Kee +r 25 2.8 m
RS R %% ik g 40 13.8 m
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